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Warm Up Grade 8

Similar to test question
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For the problem, state the variable, write and solve the equation, veri

y and give a statement.

Sally has a cell phone that has a monthly charge of $20 plus an
additional $0.05 for each call or text that is made. If Sally’s bill last
month was $80.20, how many call/texts did she make?
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model only 1c

Test outline
5 MC

5 Short Response

#1 Draw tiles and solve an equation

#3For each problem, state the variable, write and solve the
equation and give a statement. (Like warm up)

#4 Solve  Ex) 2(x-3)=16

#5 For each of the following tell whether the pair of
expressions is equivalent or not.

#6 (Is it correct if yes then verify if no then redo)
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Extra Practice 5

Lesson 6.5: Solving Equations Involving the Distributive Property

1. Solve each equation using the distributive property.
Verify the solution.
a)b(a+2)=-5 b) 4(p —6) =4
c)10(y +3)=10 d7(r-6)=7

2. Solve each equation. Verify the solution.
a)—7(b+6)=-84 b) -5(q-11) =70
c)-9(d-3)=-45 d) -6(f-5) =36

3. At the fair, 5 friends each bought an $8 meal voucher and one ice-cream voucher.
The total cost of the vouchers was $55.
What was the price of an ice-cream voucher?
a) Choose a variable to represent the price of an ice-cream voucher.

Write an equation to model this problem.
b) Solve the equation using the distributive property.
c) Verify the solution. Explain your thinking in words.

4. Scott bought 54 m of fencing to enclose a rectangular plot of land.
The width of the rectangular plot is 12 m.
Assume Scott uses all the fencing.
What is the length of the rectangular plot of land?
a) Choose a variable to represent the length of the rectangular plot of land.

Write an equation to model this problem.
b) Solve the equation using the distributive property.
c) Verify the solution. Explain your thinking in words.

5. Heather chose an integer.
She added 9, then multiplied the sum by —4. The product was —16.
Which integer did Heather choose?
a) Write an equation you can use to solve the problem.
b) Solve the equation.
c) Verify the solution.

6. Solve each equation. Verify the solution.
a)-7(a+3)=-14 b) 5(7-r+11)=10
c)-7(b-3)=-13 d)-6(-3+t-5)=10
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